Lecture 18 - Green's Theorem

- Read section 8.1 on Green's Theorem

- Reminder: Lecture 19 (Friday 11/05) will be given remotely through Zoom. My OH
tomorrow are cancelled; I'll reschedule it for sometime next week.

- | have OH right after lecture.

- MT1 grades will be posted tomorrow.

- MT2 on Week 8 Monday 11/15: Covers everything up to and including Green's
theorem (which we will cover today and Friday). The midterm will be cumulative (i.e.,
requires knowledge of all content covered in the course), but the focus of the second
midterm will be surfaces, scalar surface integrals, vector surface integrals, and
Green's theorem (sections 7.4, 7.5, 7.6, 8.1) and homework 4, 5, 6. As in the first
midterm, there will be four questions and one extra credit problem. | will post a
practice midterm sometime next week. C
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